R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, TX-4694

POWERED BYIH

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC), Sections R301 & Ré0? and the 2018
Intemational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rafing shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis,

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general nofes
Astragal details (Ultimate Trilennium)

Door panel details

Horizontal & vertical cross sections

Vertical cross sections

Frame anchoring

oW

74" MAX. O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT {OUTSWING)

INSWING

+40.0

-40.0

OUTSWING

+50.0

-50.0

*
i z |
sensen

savesensnse

Lyndon F. Schridt, P.E
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

10/24/19|ADD "FusionFrame” OPTION &

NO/| DATE

1

REVISIONS

OATE: 4/27/17

scale: - N.T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4694

SHEET ] oF 6

© 2017 R.W. BUILDING CONSULTANTS IND.



JOND BINVAINSNGD SNIOTHNE MY L4102 @
2GBLL—d # NOLWNISIOZM 40 3ivOldliM30 SNOISIAGY
SHUIANIONI TYNOISSIJ0M¥d 40 Q¥VOS SvX3l (WOINNTTISL 3LYALLIN) A8 31vd JON|I~
SVIIA WOVHISY “lelo| <<
L6L6'6S9°CLE FON Buoyd 3000 24i/081 8102 0l 31vadn NIET -
SBSEE ™14 OSUIDA OFZ X08 'O'd \N\w@. ATENISSY O Lavd | 547 ® _NOILHO ,8wbijuoisnd, dav|el/+z/01L] | |1 L Q1
*ONI 'SINVLINSNOD SNIGIING N < 2 v_A 2_
£ZL50L# “F'd Svxal VNan3 Wl 2 &
‘T'd IPIUYSS d UOPUAT  iAg pedpdeud sjuUSWINDOQ :110NA0¥d HEIHEE 5
« WOLIO9
= )
J
~ o =
w‘- . ey -\“ ‘A’ %.
g 10 .s_zow El zooz.bm o =
ﬂ.&v: o-o sssesen 0* \ o~ -
\\.«' o- .o E 3 hw\ ] k Mhéu
4-x, > ..nu g . ki
-~% Lu.. U V- s o
lghpy"ln m —— S — :WO.N ————
AN -
= c
_ S
=
b5
. in ) 3
o~ i —
2 . AR
¥ ) O
5 3 W 5
o <
in
® ™~
I-'blc -
o
o
N 2
2| & — 2
& < Q
Q <
O Q
: = 'e)
S m
& o o
w AWn = E
& in < O 5
Q o) T 4 5
z & & =5 -
< <
i m
N Q
5
a.
= — [0
3 < ™
. =
)
[
=
T
L.
o
S
&
>
=
4 =
&
o
e |
aym
dOL
2
OF
2]
5 <
= § —
= 2
5 Q)
<
oz
TII
v
<C
e >
5 OF =
2% vz %
T 8 S E L
o g 552 = R —
>, N o S58 :S
8 T a ® 3 3 =
@ =< B a < L
@ m o 3 = —
% E *= <
@ 5 - =
5 3> =
5 < =
v, \ _—
/! AR S i v LY~ 2 : —— —— = : o & o [T raee—) &y o]V /) ]
‘ ‘

22 BMP Y6 E6'L6'0697-X L\sBuImelq - D\(WnuUBjuL) Q3ZV1D DA D4 SHUOSEIN 888-¥d - 1AL\SUI 4O 1daq sexs] - G\LNINVINYId BINPUNSIUBIONY



H]
\.\:\-\v a "N,
HINGE STILE LATCH STILE St §3 2.
(LAMINATED WOOD) (LAMINATED WOOD) Foig €S o ua
EXTERIOR . TOP RAIL S\ ig £* 8 I
/ — 0.98" —=— / (LAMINATED WOOD) g\ i oy gR gy
' S | Gui H™ . RS
¥ ? X ﬁO'. H 5 g ) gz
’ ) B 1% 3 234 53
S R 6’;/ ‘f? i2 N § S5 ?E
7 WS i Zom 6B
< Ny Fit gR. &0
L . SR : o - ; . k 1111.,,0:‘:\.'\_ (5‘ © x g n_g
5 L.
By 163 —] °© Eoges o
63" INTERIOR - g 255 om
WOOD LOCK BLOCK g fen §'§
21"LONG DOOR SKIN 2 §
1"\ HORIZONTAL CROSS SECTION (2I"LONG) ~ S
35.75" MAX. 2/ : 8
PANELWIDTH ~ 8
. 2475'MAX
D.L.O. WIDTH
D %]
=
GLASS BITE 5/8" £
oq
/ ——— 1" NOMINAL GLASS THK. g | e
' BACKBEDDING ) 2 |zl ¥=
\2/ /  ARSPACE INTERIOR EXTERIOR ol o
B 4= e < 8%
N~ = . — § % Q
~~—1/8" TEMPERED GLASS 3 .
e AN & &
O 5 ALUM SPACER
2 0 o s
2 5 o1 GLAZING DETAIL b
= 3 X Flush Glazing %y 8
< O o
< 5lx
in I [\ L&)
S Sl
g\) M~ ﬂ~ =0) S 9
el 2
SEE HARDWARE Sol @
TABLE FOAM CORE || S
/ ~ \ : LE }L‘_-'
/// : DOOR PANEL : : | — L3
/ ; - 3|3
N\ S e
i\ NEE
BOTTOM RAIL N N S
2 (COMP)) . e
f—1.75" —| DATE: 4/27/17
scale:  N.T.S.
MASONITE
VistaGrande Flush Glozed DWG. BY: JK
Fiberglass Door Panel CHK. B:  LFS
Trilennium®3000 Series TRILENNIUM /~2"\ VERTICAL CROSS SECTION DRAWING N0
DOOR SKIN: FIBERGLASS (0.085" MIN. THICKNESS) Endura Mulfipoint Lock (3pt.) SERIES 3000 MULTIPOINT w TX—4694
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) LOCKING SYSTEM -

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium\C - Drawings\TX-4690.91.93.94.dwg, 3.2

@ 2017 R.W. BUILOING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium\C - Drawings\TX-4690.91.93.94.dwg, 4.2

/"3 2X FRAMING ey ;
i z(gfjmgf DRYWALL (G>=042) DRYWALL 4”%\:«-:'5 ) *} t:} 4, 38
D, ° — T T | ISy 15 . B
a ‘ o PN ixs = 4 oJd Ex @ ul 00
i RS I~ b SIS 53%3&’ ;ﬁ% o 8 g§ &7
[|  EXT.SHEATHING ) EXT. SHEATHING ¢ o é‘” « ¥ gefalel Zup B
/ / il g i 9L, ST SRV 5% £33 2z
V4 V4 1 i Yo i8] SR T|EF ELE 20
/ / ‘ it RN NER &~ 53w 98
/ / 1 S llh:q.: 9“9 D\ 905 @ff»
“| _ #10X2-1/2' PFH ‘ = Mg 5 B8R, &g
WOOD SCREW ‘ 5 oxf ,°
y 2 L) O%
174" MAX. | g 355 0
] ] DY e & ,h_‘
h | sHIMSPACE ™ o S~ 410X 3" PFH g m§ §§
[«
SHE VA MAX. — | WOOD SCREW : =
SHIM SPACE : E XK g 8
X X ] =00p060) §
1 \ﬁ DOOR PANEL \ | DOOR PANEL ~ \
NCA| g i N HEAD: PINE HEAD: "FusionFrame" (1-PIECE) 2
O
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 650) (QEBD/PE 650) - §e
x R
/ / EXTERIOR \\ INTERIOR EXTERIOR W INTERIOR 2 g 2
VA VA 5 | E8
y Y /"2 "\ VERTICAL CROSS SECTION (3 \ VERTICAL CROSS SECTION 7 S
IH E \U OUfSWIng shown - fnswing also opproved \U OU?SWIng shown - nswing also Opproved L_) . éE)
5 O T
8 |I=
4 <C
(a8 a
21 =
0.15" 2 %5
/ 1/4" MAX. ol e CSINK 1/4" MAX.
L
CORNER PADS\_5_A\_5 SHIM SPACE 1Yp) SHIMSPACE  ExT. SHEATHING S
(TYP.) EXT. SHEATHING JAMB: "FusionFrame” R0
N (1 OR 2-PIECE) z|o
JAMB: PINE \ =N
— e S I T AN 1®)
0.75" "f‘“""i 0.75" ‘l""’ r"‘_"t" 0.75" e oS 40 X 2-1/2" PFH #10X 2-1/2" PFH fﬁ_ T S ——— -0 o (£
e = " WOOD SCREW WOOD SCREW 2 2
e >
X FRAMING ULTIMATE TRILENNIUM ASTRAGAL it @
COMPQITE SNAP-ON (G >=0.42) ENDURA WEATHERSTRIP 2X FRAMING 3= "
p (QEBD/PE 650) ENDURA WEATHERSTRIP [G>=0.42) N1
C.A\ ; DOOR PANEL (QEBD/PE 650) - . 18
a2
~ e } "
g N N~ NEE
/ g LVL ‘::, / LN 116
pd
] !
X 21/2 FHH HOXITPRHSMS &0 . MULTPOINT 18 X 1" PFH SMS #8X2-1/2" PFH e N.T.S.
] 2 125" | WOOD SCREW WOODSCREW __+ .. WOOD SCREW owe. 8: JK
JAMB / HEAD JAMB / HEAD IAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS ok, B LFS
DRAWING NO.:
PNE fusonframe’ "FusonFrame’ @gggggme CROSS SECTION. Tx—4694
(1-PIECE) (2-PIECE) o

© 2017 R.W. BUILDING CONSULTANTS INGC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 5.2

\\ \\

INTERIOR EXTERIOR INTERIOR EXTERIOR
DOOR PANEL ENDURA
WEATHERSTRIP y/i DOOR PANEL

v DOOR PANEL
ENDURA \
DOOR SWEEP ENDURA

(DBK-R) DOOR SWEEP
/i% / (DBK-ZAC)

w,

g

m®® (QEBD/PE 650)

INTERIOR EXTERIOR
EBD/PE 650 EXTERIOR
(QEEDIPE 650 ENDURA \ //
WEATHERSTRIP_  INTERIOR Y\ EXTERIOR

DOOR

7

Lyndon F. Schmidt, P.E.,

- 100000 N
S -

PANEL

h

#10 X 2-1/2" PFH WOOD SCREW OR #10 X 2-1/2" PFH WOOD SCREW OR #10 X 2-1/2" PFH WOOD SCREW OR #10 X 2-1/2" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 174" X 2-3/4" ELCO OR ITW CONCRETE SCREW
/ 1"\ VERTICAL CROSS SECTION /~ 2"\ VERTICAL CROSS SECTION /3" VERTICAL CROSS SECTION (~ 4\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold W mvgi?]gcgrgfcuﬁgﬁng Threshold \5_/ Outswing Burnp Threshold w Outswing Bump Threshold

TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

A& ; 4
8 = 8 8
] i AR e J 4] |
| 456" | 46 - I~ 4.56" ! 4.56' . | 456" !
T INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 )} INSWING ADJUSTABLE THRESHOLD 2 INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 ZAI4545FN ZAILAA4565 ZAIAA4565FN ZAl4565RDS
MAX. DESIGN PRESSURE = +30 PSF MAX. DESIGN PRESSURE = £30 PSF
i [Eh— ; o3
— 456" : [ | : 456" ] jj 456" i e s —____.J :
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 5} INSWING ARTICULATING THRESHOLD o) INSWING ARTICULATING THRESHOLD 10} INSWING ARTICULATING THRESHOLD
6 IACL4565 7 IAC4565FN IACLAA4565 LACAA4565FEN ZAC4565RDS
MAX. DESIGN PRESSURE = +35PSF MAX. DESIGN PRESSURE = £35 PSF
] ) | |
. iz e a@g%QQZ =
% S < X
1] { i i
.~ s —~—~—-J 45 | | 456" ! | 456" ,’
17) QUISWING THRESHOLD 12) UISWING THRESHOLD 13) QUISWING THRESHOLD 12) QUISWING THRESHOLD
ZOBL4565 ZOB4565FN ZOB4565RDS FOB4566

5]
=
Q
=
O
vy
w
& 2
< ..
D z o
= o| X
L = ©
7|
QS
. =
= i [
S o W
sl g
& z
o a
Fd T Do
Y1 i
L
[
o)
&0
O
Slg
£
olal |»n
) z
o|® O
S| 2
Elo| @
519 |E
0
Hi=
I8
S5
<t
(o}
NEE
Q <
S 1o
- o
z
OATE: 4/27/17
ScAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4694

SHEET 5 oF _6

© 2017 R.W. BUILDING CONSULTANTS ING.




R\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI.- DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 6.2

JAMB NOTES:

84.81"

58.69"

HEAD ANCHORS:
#10 X 2-1/2' WOOD SCREW (PINE JAMB)
#10 X 3" WOOD SCREW (1-PIECE JAMB)

»’ ﬁ mP) *} “* (TYP.)
! ™ vy !

6"

Astragal Sirike Plate

i

I

N

I
T
DETAIL 1

DETAIL20R 3

%k
N e

1

@ Head Jamb
Vgl
= ke ;] =

N\

FLOOR SUBSTRATE MATERIAL

s Uz
EOZ
273
(]
T SEE HINGE
T T Eggf/ DETAIL 1
S
B
\
_ SEE HINGE
B3 DETAIL 2
/]
B
HINGE JAMB

CONCRETE {MIN. 3000 PSl)

WOOD (G >= 0.42)

4 (TYP.)%/J>

4" (TYP)

=— 4'(1vp)
¢

FRAME ANCHORING

XX

*NOTE: Outside anchors are required for D.P. > 40 PSF.

THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.

THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusfed to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W

rapcon® | 14 | 1 1172 ’
E’-CO 0 " " \d
ULTRACON®| 1/4 1-3/4 1 4

#10 X 2.5" PFH WS

: N\
% g &
DETAIL T
JAMB ANCHORS:
#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB)
#10 X 3" WOOD SCREW (1-PIECE JAMB)
—%

#8 X 1" PFH wsé

I
_ t%é.: 3

HINGE DETAIL 1

8 \
| #8X2:1/2"PFH WS
! o ||| & |
o ® L1 {0~
" - Q "
SILL ANCHORS: #8X1 PFHWS%&,-; =~ #8 X 3/4" PFH WS
#10 X 2-1/2" PFH WOOD SCREW ™~ 4"X 4" HINGE
1/4" X 2-3/4" ELCO OR \
ITW CONCRETE SCREW
HINGE DETAIL 2
3/16" X 2-3/4" TW CONCRETE SCREW
OR ASTRAGAL PIN CAPTURE
#8 X 3' PFH WOOD SCREW COMPONENT (UNDER CAP)
ASTRAGAL STRIKE )
PLATE @ SILL \ 172" DIA. HOLE (IN CAP)
SRy _[e_7 e o
& - }) < . ;5' -
1/2'DIA.HOLE pEray 2 DETAIL 2 DETAIL 3
QOutswing Inswing Inswing

% #8X 2-1/2" PFH WS

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FlL. 33595
813.659.9197

BUILDING CONSULTANTS, INC,

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

— #8 X 3/4" PFH WS
— 4" X 4" HINGE

ENDURA
FRAME ANCHORING

PRODUCT:

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

10/24/191ADD "FusionFrame” OPTION &

NO| DATE

1

REVISIONS

DATE: 4/27/17

SCALE:  N.T.S.

DWG. 8Y: JK

CHK. BY: LFS

DRAWING NO.:
TX—4694

SHEET 6 oOfF 6

© 2017 R.W. BUILDING CONSULTANTS INC.



